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O=X&H A2l 250,000& *43| 1,000
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O =3 AlE HHl 5,000,000& 5,000
Ol s 2=, HIAIE &8 EH
55,000& *22 0l A~ x23] 2,420
O=Xll 8 2= & &EIIALE &l
5,000,000& 5,000
203 ¥R =&Y 1,000 1,000 0
03 Al Z=XIH R F=XY| 1,000 1,000 0
O=XZEY %X L HABAA 2
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-8 3 200,000& 200 40,000
A0 3l 100, 000-& * 1004 10,000
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405 XtakF SHI 22,820 5,520 17,300
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OsdgddE) 2 660, 000& *2CH 1,320
ou=2 2¢ 550,000& *2CH 1,100
O1nXAMAE P 700,000& =204 1,400
OsdA 220 #2¢ 300, 000& = 1CH 300
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= 15,317
Al 4,595
T 10,722
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T 10,722
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= 15,317
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- 10,722
N 22,000 22,000 0
= 11,000
Al 3,300
- 7,700
401 AIEHI L 2 CHYI 22,000 22,000 0
= 11,000
Al 3,300
- 7,700
01 A& Bl 22,000 22,000 0
O0MZX M2 =8 22,000,000& 22,000
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Al 3,300
T 7,700
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)
401 Al HIZ 2018 50,000 0 50,000
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101 @124l 117,200 0 117,200
= 59,850
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- 40,145
04 JIZHHZ2Z2XNESE S 117,200 0 117,200
O=)tRIINHEE 117,200,000& 117,200
= 59,850
Al 17,205
T 40,145
206 M= Hl 15,000 0 15,000
= 7,500
Al 2,250
T 5,250
01 M2 4l 15,000 0 15,000
ORI 282 (IS S 15,000, 000& 15,000
= 7,500
Al 2,250
- 5,250
OIMSR M2 Sz 108,480 0 108,480
= 54,240
Al 16,272
T 37,968
401 AIEHI L 2 CHYI 108,480 0 108,480
= 54,240




40 4H 0H
M v rie
oc
4

il
>
i}

A - ER(EN) - AR - B of & o4 SSa HIDZ2

Al 16,272
- 37,968

01 AlZHI 108,480 0 108,480
O3d=IR7| 108,480,000 108,480
- 54,240
Al 16,272
- 37,968

i off & K 1,209,091 993,329 215,762
= 332,477
Al 95,851
- 780,763

dsd gH 36,009 31,960 4,049
= 25,206
Al 3,240
T 7,563

401 Al HIZ R0 8] 36,009 31,960 4,049
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Ol A= ALEHIHA 8,677,000 8,677
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Al 17,968
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ONESHE 2 119,784,000 119,784
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2 1,750
APRITHOH 2 K2l (AF2 S GH S Ol 2 RICH) (X)) 5,000 400 4,600
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SN BR=XD
dM: ZE g7 I3
el MRITHEN X CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 18,429 17,629 800
= 7,372
Al 3,317
- 7,740
01 At 2t 2l 18,429 17,629 800
Oel &l shah] 14,429,000& 14,429
= 5,772
Al 2,597
- 6,060
Otr=2 &8s g 4| 3,200,000& 3,200
= 1,280
Al 576
T 1,344
O4tEdlstES I 800,000 800
= 320
Al 144
- 336
MBS B L 2Y(HE) 1,300 55,300 A54,000
= 520
Al 234
T 546
201 YEr2 Y| 1,300 1,300 0
= 520
Al 234
T 546
02 =224l 1,300 1,300 0
Ot ag2HAAE SR 1,300,000 1,300
= 520
Al 234
- 546
At THOH 2 Ktel SHO(MEX2 LR SH) 143,507 110,789 32,718
= 57,400
Al 25,831
- 60,276
101 @14 dl 143,507 110,789 32,718
= 57,400
Al 25,831
- 60,276
04 JIZHHZ2XNHEE S 143,507 110,789 32,718
Odt=0e M2 &l 3HH 143,507,000& 143,507
= 57,400
Al 25,831
- 60,276
MIZ2R2RE 24 24,192 15,100 9,092
= 24,192
301 LBEXZ 24,192 15,100 9,092
= 24,192
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Chelr At THOH & X (=& J)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0B A =R RAB A3 24,192 15,100 9,092
OtdE3 ZAl 24,192,000& 24,192
= 24,192
YA (M) 223,000 20,250 202,750
401 Al HIZ 201 8] 223,000 20,250 202,750
01 A& HI 223,000 20,250 202,750
Ogds & A | 223,000,000 223,000
sS4t il 77,630 81,130 A 3,500
201 2et2d] 7,630 7,130 500
01 At 2teltl 3,400 3,200 200
O=sXzels 4= = 100,000& = 12& 1,200
OFHl Xt 550,000& *43] 2,200
02 2324l 4,230 3,930 300
Os¢tz g3 EBXE0I 2222
200,000& 128 2,400
O34 HIZ3E == 55,000 x6 & 330
Os&z g3 EUXE0II SX &l
300,000 =54 2 1,500
401 A& HIZ 201 Y| 70,000 70,000 0
01 A& HI 70,000 70,000 0
Odtg) Mejwet Alg H A
2,000,000& *25ha* 13| 50,000
OAXILE BoAlE &X & &EHl 20,000,000& 20,000
AP THOH 2 Rbel SOl (AFARER Ol & KT & &) 53,652 52,588 1,064
= 21,461
Al 9,657
T 22,534
101 124 dl 53,652 51,888 1,764
= 21,461
Al 9,657
T 22,534
4 DIt Z2RESES 53,652 51,888 1,764
OAHALER & 2 0l & 53,652,000 53,652
= 21,461
Al 9,657
- 22,534
MEANEAER0 29 20,832 20,296 536
= 10,416
Al 3,125
T 7,291
101 @124l 20,832 20,296 536
= 10,416
Al 3,125
- 7,291
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04 JIZHHZ2XREES 20,832 20,296 536
OZ A=k 22l 20,832,000& 20,832
= 10,416
Al 3,125
- 7,291
=old MEENEEY & 298 N 51,000 50,000 1,000
= 25,500
Al 7,650
T 17,850
307 21201 A 51,000 50,000 1,000
= 25,500
Al 7,650
T 17,850
05 RIZt2IEt = 51,000 50,000 1,000
OfME MYSNTSY 9 29
51,000,000& 51,000
= 25,500
Al 7,650
- 17,850
=dEd Fdl 20,000 0 20,000
401 A& HIZ 201 8] 20,000 0 20,000
01 A& HI 20,000 0 20,000
O85s =HEZ HUl(HHA RUSFEHH
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STHAS AL S 120,000 0 120,000
= 80,000
Al 20,000
T 20,000
402 RI2EX=20l A 120,000 0 120,000
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Al 20,000
T 20,000
02 LA TEALEZ(0IETHR) 120,000 0 120,000
O=M&S AL St 120,000, 000& 120,000
= 80,000
Al 20,000
- 20,000
THZz SHEIZ L 2,800 0 2,800
= 1,200
Al 480
T 1,120
402 RI2HXt20l ™ 2,800 0 2,800
= 1,200
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- 1,120
02 It 2 AL EZ (01X THS) 2,800 0 2,800




AN =0
Hm: Z2 g3 IR0l
Chelr At THOH & X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OF8g W22 Y 2,800,000& 2,800
= 1,200
Al 480
T 1,120
HAESD JRE S 2 1,623,550 1,158,821 464,729
SR A2 1,623,550 1,158,821 464,729
HEE SEE | 1,165,550 848,821 316,729
101 @124 dl 427,426 397,986 29,440
04 JIZHHZ2XREES 427,426 397,986 29,440
O3&el JIANI 2L 2B
78,3203 12 270 253,757
O3&el JIAN2 2L B8 43,063
-ug8Ea 253,756,800& *1.5% 3,807
S EE R 253,756,800& *7.35% 18,652
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-SRAAEBEE 253,756,800& *3.335% 8,463
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O=& tx - S3 3l o oAy
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O3& tx - 83 3Hl " B 17,944
-IE2Ega 105,732,000 *1.5% 1,586
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201 2yt 2 Y| 173,494 141,750 31,744
01 At 22l 20,484 18,856 1,628
OZ2dze g8 2,600
—QHLH 2+t 200,000 *8H 1,600
= A 100,000& =104 1,000
OZ3sXN&el A23F 5,664
-0 CH 3003 240+ 123 864
-StEA MEM ¥ S4
50,0003 100 &~ +128 600
-EAER S 100,000& = 12& 1,200
-0[JICH, Bat3d M= 400,000& *62 2,400
-E3t3 3 HEEs g4 30,000& 20 600
O3 zel ZHl Xt 500,000& x203| 10,000
OEslEd =2s5dAs 2R+
60,000 x2H 92! 1,080
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